


3apava

B 0 A

Adoka3saTtb: AO=CO




3ajaya

Aloka3aTtb: AB=BC




3apava

AdokasaTtb: A ABC=A AAC




3ajaya

n

[/loKa3aThb: ZA= Z B



3ajaya

Hantu: paBHble
TPeyrosibHUKu
N AOKa3aTb X PaBEHCTBO






3ajaya

n

AOKa3aThb: A.q= ZB



3ajaya

AokasaTtb: AO=CO



3ajaya

Aoka3aTtb: AB=C/]



3apava

P

[loKa3aTb: Zpr= /ZB




3ajaya

AokasaTtb: AB=C/]




3apava

[loka3saThb: ZC= ZB



3ajaya

7 ¢

Aloka3saTtb: AK=CP






AoKasaTb: Zﬂ,= ZB



B 3ajaya

n C

flokasaTtb: A ABA=A BCA}



[loka3aThb: ZP= ZK



3agaua

Adoka3aTtb: AH=HC



AokasaTtb: BH=H/



3apava

il C
AQ=CB

[loka3aThb: ZA= Z B




3ajaya

Hantu: ZAOB




